### Year 6 Homework:

### Friday 10<sup>th</sup> September 2021

#### Autumn term week 1

#### **Reading** -

Please read for at least 30 minutes each school day.

#### <u>Literacy</u> –

We will be choosing new representatives (reps) for our School Council in the next two weeks.

Even if you do not wish to be on the council, please complete the task for this week's homework.

Write an idea to improve the well-being of pupils at our school. You could talk about this to your class and then the best idea and presentation will be voted for and this will help us choose our new reps.

#### Maths -

Choose as many tasks as you wish from the maths below. Do as much as you can, please.

Choice 1

## Multiplying and Dividing by 10 and 100

# Multiplying and Dividing by 10 and 100

Choice 3

# Multiplying and Dividing by 10 and 100

Please mark your own work using the answers below.

(Please only use the answers for marking when you have finished)

## **Answers**

$$5 \times 10 = 50$$

$$7 \div 10 = 0.7$$

$$4 \times 10 = 40$$

$$6 \times 10 = 60$$

$$28 \div 10 = 2.8$$

$$5 \div 10 = 0.5$$

$$8 \div 10 = 0.8$$

$$7 \times 100 = 700$$

$$8 \times 10 = 80$$

$$3 \times 100 = 300$$

$$2 \div 10 = 0.2$$

$$80 \div 100 = 0.8$$

$$9 \times 10 = 90$$

### **Answers**

$$64 \times 10 = 640$$

$$65 \div 10 = 6.5$$

$$42 \div 10 = 4.2$$

$$34 \times 100 = 3400$$

### **Answers**

 $874 \times 10 = 8740$ 

275 × 100 = **27 500** 

3873 ÷ 10 = **387.3** 

673 x 10 = **6730** 

3802 ÷ 100 = **38.02** 

204 x 10 = **2040** 

309 x 100 = **30 900** 

3002 ÷ 10 = **300.2** 

4000 ÷ 100 = **40** 

2264 ÷ 10 = **226.4** 

 $765 \div 10 = 76.5$ 

817 x 100 = **81 700** 

 $734 \times 10 = 7340$ 

403 x 100 = **40 300** 

1864 ÷ 10 = **186.4** 

3908 ÷ 100 = **39.08** 

 $8764 \times 10 = 87640$ 

201 × 100 = **20 100**